- 1 _
Serial No. Of the Answer Hook ‘W

Roll No. (in figure)

_ (in Words)

Superintendent Sesl & .S'ignature FIC. No (For offlce use only) _
| e i ¥ :

- . oo ’ '

120601 FIC. No (For offlce use-only) .
: STATISTICS - 11 _ '

Total Time: 3 Hours . Max. Marks: 85
Note: Thereare THREE Sections of this l’apcr ie, A H and ¢, Hﬁcmpi each accurdlng to the given knstructlons.
Time: 20 Minutes SECTION-A Marks: 18
Note: Attemnpt all parts of Section ~ A, Section ~A must be réturn to the superintendent after 20 minutes

even if you have not attempted any question. Overwriting/ defacing/Cutting ste is prohiblied in
‘Section-A and no credit wilt be given to such answer.

L Weite the carrect option Le, A/B/CAY in the empty boxes.
i.  The normal distribution has _ parameter .
(A 1 By 2 (C) 3 . (N4
il. The random variable “2” is always normal with medn snd variance
ML) . (@) (2.1}, ©ron D) (0,2)
il A numerical quantity caleuluted from population is called —
(A) Mezn . {B)  Parmmeler <) S]atislic (D)  Sample
iv.  Asthe sample siee Increnses tho. slandnrd crror of'the mean
' (A) Increases (B) Dccr«.ascs, : (<) Rumaplsthc stne (D Nnne of those
'v,  The standerd etvor ofthe mean Xa .~ ’ R
w4l B £ ©@ B, (D) Noneofthess
" , 9w
vi.  The samplo moan is . __““uslitIIHiur af populalion mean-. o
(A) Mean © (R A guod (C)AN ynbiasud (0} Dissed:
vil.  As compared v normal distributlon t- distribution Is
: (A) Nogativoly skewed ™ (R) Symmetic {C)- More peuked (D) Flaser

viil. A95% confidence intorval for the pupu!a'liun mean 15 of the form

- r) - 8 - & - &
A) x£1.96 B) xt2.58— Cy x1,28 D) xx),645-
(A) x ﬁ (B} x . - ( ?x 7: D) X f

10000 0 DD' 00 D

n.
. . ix. @& lsthe probability of rejectlng- H, when H, is _ _ . .
R {A) True ' ~ (B) False N (W7 .' (D) Notia of thest
x  Fora3x4 conlmgency table the degrees of l‘rcedom for Pearson’s x? testis _ . )
@ 3 B 4 . © 6 © a
+ Xi. Spearman is rank corvelation cocfficient “ @ * lfes between S . .
' Af-1L 1] ®) [0, ©) 0] - (O [~w,+w]
ali.  Mavements of iregulsr nature dus 1o chance evcms such ns flood, .-.trikcs earthquakes, wars are called _Ej
, {A)  Ramdom movements (B) Cyclical movements ‘

\ {C} Scasonal movemants {D¥Mons of these
xill. In nregression line the intercept of the line is

(A) b, S (B, © Zera " (D) None of these e
xiv. The smooth & regular moment is called P -

(A} Secular trend {B) Cyclical (C) Irregular moment (D} Noneof these s - :] ,
xv. ifno relationship exists between the variables, those Is cosvelation blw them, - =

{A) Positive (8) Ne},m ive {C) Neo (D) Nane of these I l
xvl. A populaﬂon consists of 6 clements, the number of possible semple of size 3 without reglacement _r

. (A9 . ) 0 C) 38 (D) tione of thess

xvil. One gigabyte (OB) isequalto ____ ok . . . —

(A) 100 MB (B 1650 B (C) 1024 MB: (D) 1024 Ky ]
xviii. The processor is the . _ofcomputer . - . [::_l

. (A) Ear (1) Brain - . (€ CPU (D) None af these -
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Note: Thme aliuwed for scetion B and C Is 2 hou? ;}‘nd 40 mlnutes. Marks: fif] :
Ik Attempt any TEN Parts ouf of the following Each Pmt carries equal marks.
i.  Explain Smnplmg & Non»S ampling errors.
ll ‘ii.' Explaih Probability & Nan Prdbability sampling. s

fil. Differentiate between simple hypothesis & composite ‘hypolhesis:.

iv. If m=m=25 and 0,=0,=020 %=1595, % =1557 Find 95% confidence interval
- for (i, ~uy)
v.  Explain the concept of Un«biasucss

vr Differentiate between the noinal & ordinal seals.
vii, Whatis IaTime Serics? What are its main components?
viii. bxplain the concept of correlation Co efficient bctwcun two vanablss
ix, Whatis mcant by simple random. aamphng & ﬂlrauﬂed random sampling.
X, What i3 a Scatter dlagram? Explain the meaning of regressionof Y on X & X on ¥\
xi.  Explain the [unctlm{ of CPU,
xii,  Find the probubility: (i) p(z £-2.13) 7y plz<-2.33)

xiii.  Define scatter diagram, -

:'EQ'!QH ugu ‘ Maﬂu 27
Note: Atftemnpt any THREE qucstionu of the following, Each queation carries equal Marks

III.  Let X is a normsl random variable with mean 46 & standard deviation 4. Fmd the fuilowmg
. Probabilities.

(i) plx>54) (i) p(43 < X ‘< 52)

.  Anlce-cream company claimed that its product contained 500 calories pér point. To test this claim 25
one paint containers where analyzed givin ¥ = 507 calories & & = 22 calories. Test the claim at- 1%
Icvcl of significance Hy: u =500 and H, i # 500

V. Oymnast was ranked by two judges in following table, Calculate “Spearman’s rank cortelation”,
FirstJudge : 4 5 8 3 1 2 7 6

SecondJudge : 5 4 6 1 2 3 7 8

Vi Caleulate the 4-quarter centered moving évcragc;s for the given data:

Years. ' | Il 11 v .
2007 88 55 40 - 42
2008 g9 67 . 56 60
2009 93 87 67 69



